TS SET

Notations :
1.0Options shown in green color and with % icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Subject Name : COMMERCE
Duration : 180
Total Marks : 300
Display Marks: Yes
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required? : No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? Yes
Change Font Color : No
Change Background Color : No
Change Theme : No
Help Button : No
Show Reports : No
Show Progress Bar : No

Group 1

Group Number : 1

Group Id : 51714468

Group Maximum Duration : 0

Group Minimum Duration : 180

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 300

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
Paper I

Section Id : 517144135

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42
Number of Questions to be attempted : 42

Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 517144415
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 51714410197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&mﬂéfzotﬁc‘g@@ﬁ "egknodh srardteasin” e S

Options :

The physical location of an institution.

| N0 g'ay &8

The number of students in a classroom.
S5K855 E‘.chr;gt%}@ o8y

The arrangement of furniture in a classroom.
5560 PO EB e9xndY

The overall context in which |learning takes place.
4 @ STHRD 2260 Sngsn S lelalejtasy

Question Number : 2 Question Id : 51714410198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
T SEEE Dy ) HBEE e %r:méﬁ &0E008

Options :



Elementary education
(arepaDE D

1. %

Secondary education
&559::553 e

Tertiary education
3 éejjédﬁ; Al

‘Yocational education
L% NG el

Question Number : 3 Question Id : 51714410199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
0988 s’ &mvg:ﬁﬁa}r;} Ssde oty HEHE Ssen astird Q@O

Options :

Virtual discussion boards
Eﬂd}&fﬁ@ Somy 55@&}3

Online chat rooms
88~ P Hten

2. %

Social media platforms
Fe0RE SrgE SB8en

3. %

Face-to-face in the classroom
SBRA Keat Soge S0

Question Number : 4 Question Id : 51714410200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



What is the primary focus of SWAYAM Prabha ?
Hyaho (54 G EPEHE G 987

Options :

Offering degree programs online.
=5856° (i seEyEdme [HrES

1. %

Providing paid specialized courses.
, & 00D (858 8°Byen domytn Bcsne

Broadcasting educational content through TV channels.

- 8 o) oxoe Doy DROR (B0 Sadnea

Conducting in-person workshops and seminars.
Robore ddnsrayen, Sknen ABErodes
4. %

Question Number : 5 Question Id : 51714410201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
@588 [HEen, DEHE e, H5DS [HartTom 68 surirdn

Options :

Traditional teaching methods

% Frolmrahl Hsar S ebhen

ICT-based assessment tools

- ICT- e3°8e8 $0H05) 5HVNEY

Qutdated educational technologies
, % SP00308% Doy FoBaESen

Mon-interactive resources
HBEOSE Sdthen

[ %)

Question Number : 6 Question Id : 51714410202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed



Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
Elenvggls)is HB8%58 b

Options :

Observing and describing phenomena without intervening

. éﬁééo DS ome CSE'}E DLcsre H68eD D58
1.

Manipulating variables to establish cause-and-effect relationships

- 5o08 [Dgra Domopreid a0sPolodhi Serodeei EaVilah)| Dohoes

Conducting surveys and interviews to gather opinions
warch ESeH éﬁé@}, B0€87gen BP0

Analyzing historical documents and records
4% wﬂ{;@wé&é SlEEe, 55‘06%@ &.‘Jﬁi’q&a

Question Number : 7 Question Id : 51714410203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEGHE B8y raBad SrHoDHI

Options :

Objective truths can be directly accessed without the influence of human
perception.
QEard Dereih,S5rds (Here €8 S0 (D580 36561752,:63.

Subjective experiences play no role in shaping research outcomes.
5888 D= Eﬁjﬂa’}éa}n}eﬁéﬁ HEars wigare ar@ Sotth

While objective observation is important, researchers’ interpretations also
matter.

, RpEars 5888 soggid, 5085550 DHBmen Ere @raigges Biraron.
3- .



Research should solely rely on abstract theories rather than empirical
evidence.
508888 RN EE %ﬂé_g 2 5R0GE, Holise ?amgo@v@?g gt

4 % iR,

Question Number : 8 Question Id : 51714410204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
D Homols BB’ HRcEdEo edme

Options :

Using too many references in a paper

2.8 ajngﬁa'méﬁ TreTe AresleEee) SHamNa
1. %

Quoting a source directly without citation

o ©5opso seHow (B&gEore HHBD aetHés

Rewriting someone else's work in your own words
3 % 288 JgHe DA & ﬁé@éémﬂwﬁf’ SOA [rding

Properly citing sources to give credit to the original authors

. eden g TEardd dthei S0 etirood
4.

Question Number : 9 Question Id : 51714410205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2% 50887 eiios? Dorrren Sediren EHdn 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References

L Kjtgrté)m, HBScHm, HPOaeen, S8, DAL, égﬁa}s’am

Introduction, Methods, Results, Discussion, Conclusion, References

- HBHcHHL, égéaﬁ:o, HDaeen, 58y, A0, égﬁmzﬁm



Introduction, Conclusion, Methods, Results, Discussion, References
HBScHm, Swhodd, ?ﬁigéjﬁn, Pzren, I8, ég‘.ﬁa:éen

Results, Methods, Introduction, Conclusion, Discussion, References

4% H®eren, égeﬁa@a, 26Udben, Swhosd, SY), ﬁﬁm%’am

Question Number : 10 Question Id : 51714410206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
é’f:agoé m@ém@éﬁ éej,é%ér;} DerKdn ©BHEEL

Options :

To list all the references used in the research

- 58805585 éﬁaﬁ@ e St DSsnés

To introduce the research methodology
, % SBEES HLBY HBIchHo Voo

To acknowledge and thank individuals who contributed to the research

5880555 55@&3':} a%é_;}ﬁnor‘.ﬁﬁé 1HBod), cﬁééaﬂmn@: Sensdts
3.9

To present counterarguments to the research findings
588555 PDero P HBEroTHHeD S50

4, %

Sub-Section Number : 2
Sub-Section Id : 517144416
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714410207 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
15008 Bodd skl Sdrardo egrdorre Q. 1106 Q. 15 (D&l Jdrgraroen

[lsvilelat

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

D@36 PEE o) S0, SHrth wohe IS EreS DFEDS Fdo, 1700 &°
DBjoSalod. =B HE28 L%éf@’s BoH Y DHoeSS I gk sob.FHdo snoth D&
sDerOE® oFrgrlndd of) HOcH DEpSed SDAS ard wof Jf) Bén BOTow
30800 ool Jind orory) DEFED H0hiD) DHbcn Boden BOAD a8 &%) ey e
DG BB Fde Sohod. RS H08 AP =nEorond® Era8S Darol K8 oo
BE D s, 3)3@5 55:355 seogech Enoth dendih 563&@033. 508 Daroe
(586 08 Dty IS BIoR B (Gronoh ErSHedts amhher DoyEron.
BoBB8 B 8BEen domow. $AN SwHen wRo mod J0E &l Seos's
K33¥0 Gob.

Sub questions

Question Number : 11 Question Id : 51714410208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE aBaeb @;‘65 cﬂné@r 35S0 arEhH Hbatm

Options :

stately
Ko ZDB.
1. =

in ruins
GIATORMINAY

uninhabitable
K}aﬁﬁcﬁlﬂr‘i‘go =068



inhospitable
4 % 385080506

Question Number : 12 Question Id : 51714410209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
ZPHHo &b Ec‘i&é@ﬁim&o&

Options :
red stone
| % o8 Teow

sand stone
=208 Teon

wood
3 Bé&_
stones
UG-E’QQ

Question Number : 13 Question Id : 51714410210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
@3 oo diD &% 208 &ob

Options :
grass

ale
1. % (]

wilderness

5 % &05{:&50

low trees

_ ALV



flowering pots
4% Jre Hotlen

Question Number : 14 Question Id : 51714410211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
a8 J0 &) obéy 558 3&}&@0&3.
Options :
garden
1. % ey
courtyard
, % (@roieso
dining room
3 SPesarer 1O
office
L% SiepIlevve

Question Number : 15 Question Id : 51714410212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The word that means- “wide' in the above paragraph is
2 2o’ Davednd o ©80 $T) Do

Options :

Extensive

DPETD
L e

circumference

 ShenElered
2. W [4]

dimension
3 % @08Pwo



uncommeoen

R
g OF eBeag

Sub-Section Number : 3
Sub-Section Id : 517144417
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 51714410213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in
establishing a constructive relationship
SWERNERS) ©arrroi Nardnod HBdn Joyerd)s Honogrl) DB\ BS oS

SSES eniEslaslivlola)

Options :
positive
L Frindre
passive
Py
reflective
3 % cﬁﬁﬁé 9P SHE Kl
retentive
4% oedes 88 He

Question Number : 17 Question Id : 51714410214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
CARAT) 9550 H18cHS? Hoes @56%50 é@géoé@é
BEREH G0
Options :

stress management
2,80 DT

1. *



listening
- DVEL Jeyeago

crisis management

at Ee
;oogf‘af 08gs5es

3. %

time management
Dhah DB

4, %

Question Number : 18 Question Id : 51714410215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Successful intercultural communication depends greatly, when one
other cultures.

=1aTe! ﬁo%&é&mf@_ &otitin HeD, @oe‘_’sfﬁr&oé&é’% JogrHes odshbsen
Bhome FirHebod
Options :
praises

L x B¥00

respects
P S50

practices
Aty

belittles

L O D

Question Number : 19 Question Id : 51714410216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
ﬂég:‘ia B5Een 2.8 DAATRY) Ddjore Lrabdad, ob SH Jeraoeds
Dﬂﬁ@?}é@d}, ALIAL @%o% @otTtD

Options :



Psychological
L% ArHREDD

physical

emotional
aj‘?cﬁﬁéngﬁ

perception
(Sh gk

Question Number : 20 Question Id : 51714410217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

‘Twitter’ and ‘Linkedin’ are examples of media
‘55%5’ SoBasn ‘E}ogﬁ : SEEErO8 Srriedesen

Options :

social
L ey

digital
&8s

2. %

Print
3 S0IBS

Traditional
20(DTCHEN

Question Number : 21 Question Id : 51714410218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,

Options :
| = 19020



, » 19200

19220

21120

Question Number : 22 Question Id : 51714410219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, ___, SSG, XUD
Options :
|« MPI

MaQl

2. %

NPJ

3. %

NQJ

Question Number : 23 Question Id : 51714410220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 DR F6 oS’ KITE @F HR)) 4567 HOCK) RATE e9F Do)
8967 56 T, & 27AeS TAKE &9 D)) sew §& Tardh
Options :
| » 6974

6794

2. %

3 6479



6947
4. %

Question Number : 24 Question Id : 51714410221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

B0 NoWEeD 2:7 DAYV &) ow. (6 2,53¢3 12 oSS,
OSSO J0¢IES DO B0 DO DA 1:3 @6)e00H. BOdad
QOLE_ ?

Options :

|« 84
, u 112
, x 126

, v 168

Question Number : 25 Question Id : 51714410222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is

16 55c0sHe ﬁ 6538 12 2360a9 ) @286 GSBBY DITPH0 0N, erdS
FeHo

Options :

| % 16.66%

) % 20%

25%

0,
Lo 33.33%



Question Number : 26 Question Id : 51714410223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Statements:
All hills are mountains.

Some rocks are mountains.
All rocks are ropes.

ESLTATN DMV

Fo%e) DG Te.
) Zoen HdseEen.
o¥H) &T.
Conclusions:

R All hills are ropes.

Il No hill is rope.
1. Some ropes are definitely hills.

ST JTEEN:

. oo =%,

II. &) §0e S & 5°6%.

1. §Q) & D S0 Sodden.
Options :

L% | follow

Either | or |l follow

2.

[l follow
3.

Either Il or lll follow.
4.

Question Number : 27 Question Id : 51714410224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 DT sDeDS) SSHBS TS 110 H0A, (306 120 H0O
DTN DOV TS, BOH HBHS’ 30 HoA Dsthen
2OVOOIT 5. SEHBS D050 Dorsen EHH0o 2.8 HPPS
POV EEN?

Options :



120

, o 160

5 % 140

4 % 180

Question Number : 28 Question Id : 51714410225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

How is my father's father's only daughter-in-law’s brother related to me?
3 9D 2.8 PSSy SO 52500388 T80 aroidio Dae3?

Options :
Father
| & S0l

FPaternal Uncle
?;Jcﬁavfé&

Maternal Uncle

| o Seshaty

Cousin
L % 588

Question Number : 29 Question Id : 51714410226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

=g

S8 QOGOH® Ay es) 7838 (500 @hdroedd HoD0H0D) &
1806 508365 JBRE O DE?
Options :



Linga/Sadhana is the middle term
DoKIrsd w36 sgiy Diso

1. ®

Paksa is the minor term
E’}é @D i':JEf]c;L ABo

Sadhya is the major term
3 % wRG% o3IO [Hed Ho

Hetu is the minor term

T @2b ETJBSCl Ao
4.

Question Number : 30 Question Id : 51714410227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is true with respect to the first figure of categorical
syllogism?
50%SEn TINE) S0HE3 ©0TE HOD0HOD & 120D e3¢5 DO Hes50?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
S0CE D0 RO (DTS [Hababo AWBE) @00 SHBOIN D) es56e

L G308} [ardred8o

The middle term is the predicate of the major premise and subject of the
minor premise

SN D0 RO VX)) (Habdho TBNEY (T €895 OO 3N
, % CO0E raresso

The middle term is the subject of the major premise and the predicate of the
conclusion

205 D0 @A (DT eSS0 SHOCW S0A0Y OIE) oo

The middle term is the subject of the minor premise and the predicate of the
conclusion
D8 D0 @TA DN HabdHo HBCAW HSnhosy GBwE) @odo

4. %

Sub-Section Number : 4



Sub-Section Id : 517144418
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 51714410228 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (31 to 35)
Question Label : Comprehension
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D8 1808 25080 NIrrdo esimdom™ Q. 31 a00& Q. 35 14 0%
IR ED (SPODOER.

In an University, the strength of male students is 1500, Female students is 1200

and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.

2.8 D 2D 0H0eY, S Drsided Hdowms 1500, erer oo Hows
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Which of the following is the maximum?
808 78S HORN0 NO?
Options :
Number of female students in chemistry department
L% SR Do Ssrer doridhe Sowg



Number of female students in Botany department
5 v B Deriod Herer Darsder Hows

Number of faculty teaching Management
DTZ o6 e3DoR 2rsEd) Hows

3. %

Number of male students in chemistry department

L T DerHocS il Dz Howe
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23065 B D (2Parer2d) e 08 Gdsw &, 257808 25,000. (e
23065 B Ay (2Pare2?) ajﬂéé) D205 e 22650 TOEY E7.10,000. Sden
DN 22 DO FTH0 iR Berds TOTH?

Options :
|« 56%

L % 51%

% T1%

4% 47%
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007?

K§e8e50, 2225 HOCK TR SO Darsdhes Hows, S, erarered
SO eFOT 3D BNET DTTLO HoWELY, HOV0ES IO
%) 1008 520 T ST 568 DA DOH?
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1. ¢
) ® 7:6

3 % 4:3

Question Number : 34 Question Id : 51714410232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In which Department is the ratio of faculty to students, the lowest?
LOGTEHEO SHOO DO DAIB 2 DerHoeS eaehse 0T &Od?

Options :

Botany
9 EF(RO

Chenlistry
2 v S

Language
3 % aj‘?'g:[

MNone of the above
56365 DA Bew
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?

VL DH0ES TQOT isHHHOS” 25% HOB APR DT°; HODHS TS
BT2TS, & 05615065 DT D0ES 40 006 Jeesthes (H6
221580 SNSPET D0ed DO0E 35S e0otheren® Goertn?
Options :

1.v 3
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ASCIl stands for ?
o). GO0 0. 0.0 @dm

Options :
L American Standard Code for Information Interchange

American Standard Code for Information Interaction

_ American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& 655 H0Hst DB [RIE IeH8y
Options :

Internet
1. ®

) Intranet
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L% Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecie &2td J0¥ St INH6

Options :

Ministry of Education
Qg Sno(@&Eo

Ministry of Finance

_ @gé s00(B&0

Ministry of Electronics and Communication
_ QIE}@CEK}E{O‘J, éémg&]‘é&‘iﬁy é}o@ié&c

Ministry of Mines

4% Hihe hol@&o
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RAM means ........
TP @NTe

Options :

Random Access Memory
1. v

Rapid Access Memory

_ Remote Access Memory
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Which is an example of a cloud-based file storage service?
855 726° 9B Do epeds %ﬁéﬂ 5% sorBe?

Options :

Whatsapp

Mozilla Firefox

3o Dropbox

« Instagram
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The target year for achieving the Sustainable Development Goal is...
DB @é’,)&‘ia% oFs TS r‘bBT;b%ﬁ QoS B0

Options :
2025

) 2030

2035

2040
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Which of the following statements is true about global warming?
(5503 BBDOS® S HIHD @ (HATEDS HOFDSH?

Options :

Global warming has led to large scale deforestation

. [H50S S8 2 B8 968 evp oty 68208
1.

Global warming has led to arise in the sea levels
5 (@303 BB [HH0(ES 55030-&3 2HHG0% 68206

Global warming has led to a rapid increase in the population across
several countries

_ (BH0S 38D DS Baves® amrer Ko DHHBOH TbdHH

Global warming has led to a huge amount of waste generation

. [BH0S &M grb ée)tpv 688 08208,
4,
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
esyesiioi D $B8errret éf&}é}ﬁ% B5E5H80 é@oé’} BV Pjﬁﬁnaﬁéi‘& =

&N ording (Herdso 5@0&
Options :

Carbon monoxide
50%5 S0areyG
1.+ ok

Carbon dioxide
Y0 8 ©8)6

2. %
Sulphur dioxide
_ Senb @ o8&

Nitrous dioxide

4% 3D =5E
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The National Institute of Disaster Management (NIDM) was established
o N,

er8ah DHH BT D05 Sehodmbd 88

Options :

September 23, 2002
?}%g_oaar:ﬁa 23,2002

August 14, 2001
@:“{";;3 14,2001

October 16, 2003
; & @82 16,2003

August 14, 2004
ejﬁ”&pﬂ 14,2004
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Where was the first International Earth Summit held?
S slnls) @oéo;@cﬁj geBpoed Hdrado 2BAY ﬁme_}o
Options :
| = Kyoto

) o Rio de janeiro

New Delhi
3. %

MNew Yark
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What do you mean by ‘Shastras’?
Fo|ren @

Options :

Creative literature
D\esamen) %ﬂi:ﬂégo
el &

Learned disciplines
) BB leen

Imaginative
éaﬁe‘_ééé

Creative and Imaginative
K)Q.&Rﬁ“ééé, ésaﬁééé
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Who was the chairman of NEP 2020 drafting committee?
.32 2020 dSncronte eliHitd Qi ?

Options :

Kailasavadivoo Sivan
Dr. K. Kasturirangan
Prof. Yaspal Sharma

Prof. G. RajaGopal
4. %
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Which of the following learning programme originated in India and is considered
as one of the oldest?

mo&dirs® (Frdodosad, HorEdDshr HBKBoNat ward SEyEDIDn 26?

Options :
Law
PR NS VIR PP
1. ® o .
Fine Arts

) & ©D8 Bfen

Ayurveda

- e_aci‘bﬁﬁogcﬁ

Management

ke
4. % =
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Which is a solution to reduce the progress of climate change?
TrErElee SrE) @@ﬁa égozﬁ)&é) éﬁﬁ@éﬁ)&

Options :
Greenhouse Gas
w
-~ 2B =m0 A0

Wind Power

- ) 38

Deforestation

_ @e38) EJESJEEJEG

Fossil Fuel

4w BorE BOE0
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
BOBSTED (838508, @’}&,‘f}éﬂgﬁé ﬁo‘@m, ?,Jté 55568, & Dol AL ALY

5oy B e @éﬂﬁﬁ%@&ﬁ“&m.
Options :

Resource model
| % Hdthe JdorEae

ltinerant model

L OlE S
Both Resource and Itinerant models
Bboe snbdin oSS Sshrae
3.9
Dual Teaching Model
55085 5 Soror
4, %
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Consider the following two Theorems:

& (Bob Both chsgoaﬂe_}éj Hbrgodod.

Theorem A: A course of action should be pursued up to the point where its
mcremental benefits exceed its incremental costs.

orpodin Al a8 S85d ol ey ( incremental) ozpen, B mtia&@éoé Y
SoSHBE EbThod

Theorem B: Different courses of action should be pursued up to the point where
all the courses provide equal marginal benefit per unit of cost.
orpodsin B 1 D08 SEed edtie cirddl 2888 o éarod omen SirdisosHsth

B°RarAooed
Options :
Theorem A 1s true and Theorem B is incorrect

% drpodo A ardo, duroso B arddo seth

Theorem A is incorrect and Theorem B is correct

amrodo A earddo, horodgo B aHdo
2' '\"’;? m - } m —

Both Theorem A and Theorem B are correct
orposeen A, B en ot ardaren

Both Theorem A and Theorem B are incorrect
orrosren A, B en Bodlr eardsren
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Which of the following is true with regard to the kinked demand curve?
80EE &xrof B Homohod & (Bod B 06 HHo?

Options :

It 1s a partly elastic and mostly inelastic demand curve
L% af) BPosith aﬂggﬁiﬁo DA orer 05 @m&@ﬁé@o EOA &otnod

It 1s mostly elastic and partly inelastic demand curve
) & BB PorHBH arfggﬁﬁﬁéﬂgo, BPeisitd @a@@féé&o E0A sotnod



The upper portion of the curve is inelastic and the lower portion is elastic.
3 % Falailate! E}mégsiﬁéﬂgtb, Bob grHo agg%eéééo DA &otnod

The upper portion of the curve 1s elastic and the lower portion 1is inelastic
2griio a@gﬁaﬁééo, Bod griso @530555{5&50 DA Gotnod
4.
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When the law of diminishing returns is operating, TVC 1s ..............
éﬁge‘_’@é& Hewe Emgoéo eosoené® so&, TVC ............

Options :

convex

v BHogrseto ¥0A &otnod
1. %

concave
Jerseo 8OA &otnod

linear
3 % SEETHT S0nod

hyperbolic
565 06 Sotnok
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A condition that MR=MC and AR=AC is found in the case of:
MR=MC %68din AR=AC &od ?&}ne‘_’é

Options :

In the short-mn under perfect competition
- S0y A o SgeyEre é'ge’_'%



In the long-run under perfect competition

- r}OijT’g oA o égsve:l E})Eﬁ

In perfect competition irrespective of the time period
sre0& Homodo Bowe ﬁ@f@vg@ﬁé %@

At the shutdown point under perfect competition
Hoiges PEE® HrdSD Dothd 5
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A firm reaches its optimum size in the long-run when any further increase in
capacity....
28 éo% edeodHah ﬂ;mé DOBHL, &5 %;m:}fﬁﬁ 5050 DHIDSe 2008 @b....

Options :

will result 1in increase in LAC

Lo LAC & 20hénod

will result in decrease in LAC
LACD é@@o&

will result in decrease in TR

TR 8 &s/%ob
3 ® o0 —=

will result in increase in TR
4. % TR 8 2odoehob
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Assertion (A): Isoquants are usually convex shaped.
Reason (R): Both the mput factors capital and labour are perfect substitutes.
(H8EH(A): H50005rEtpen Jrgrdaore Kogrsedo EORA Gotran.

s8:0(R): adHtd sofscen Siregdo, (¥ Botir Hogry (Hesgsimndiren

Options :

Both (A) and (R) are true
- (A). (R) e Botsr aro

Both (A) and (R) are false

- (A). (R) en Botr earddo

(A) 1s false but (R) 1s true

J (A) @areddo, (R) a=dso

(A) 1s true but (R) 1s false

L (A) 7580, (R) eardso
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MPy/w=MPx/r shows that the firm has achieved.......
MPy/w=MPx/r 5505 F0odS HA 8OHE500

Options :

optimum employment of the mput factors in the long-run
| é)%ﬁ“ﬂoﬁﬁ 25585 sefsre @deidah ﬁﬁ%ﬁé

optimum employment of the input factors in the short-run
ﬁ&e_}a‘js“@c)éﬁ 855 8o @doddod ﬁﬁﬁéﬁé

the maximum possible production in the long-run

- é:gS"DOﬁE FHOSKON KBY 653



the maximum possible production in the short-run
Sgesreoos® FHoSHIT K63 658
4.% =% -
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Which of the following two statements are correct?
& (Bod 0S8° OB HELSen aHHo?
1. In the short-mun ATC=ATVC
éﬂg@ﬁs‘ﬁ@oﬁﬁ ATC=ATVC
11. If decrease in AFC is < increase in AVC, then AC decreases
AFC &b Sthie < AVC & HirvSer sod, AVC Sipeob

1m1.  If decrease in AFC=increase in AVC. AC remains constant
AFC &b é?@f‘.ﬁ@ = AVC &® 28 so&, AC R oorr 6oénod

iv. If decrease in AFC > increase in AVC. then AC increases
AFC &b éf‘:qﬁﬁ@ >AVC &° 2%h8emr o8, AC 2%H&0d
Options :
1 and 111
L 1 080w 111
11 and 111
11 508050 111
2. %
11 and 1v
11 0650 1v
3. %
1 and 1v
1 2083%0 1v
4, %
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Match the following:
st dob:

Description of the cost

B0 DHBes
1. The total cost associated with a particular decision
&8 ?C.'gci’bogﬁ S0&HG 61 dndo iy

. The cost affected by a decision

2.8 K‘chﬁméﬁ {‘E‘éep'ﬂéilézﬁaﬁé aaiijh}
3. Past cost that is not affected by a current decision
@’}K}J@é éﬁgdﬁm D08 (Hgrddo o0 KB iy

4. The cost associated with the level of output
a8 5{;0&355 665668 Pty

| ]

Options :

1 1-1v 2-111 3-11 4-1

5, x L-ii 2-1 3-1i 4-1n

s 1-111 2-1v 3-11 4-1
4 L 2-1 3-1v 4- 111

Cost

a’ygdi)ca

1) Relevant cost
Do2ofHE iy

i1) Incremental cost
STATES) mfijlj_

i11) Total variable cost
Jndo SBigaho

1v) Sunk cost
%08 Hgaho
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The monthly demand curve for calculators i1s P=1000-Qq. Present price per
calculator 1s Rs.300. If the objective of the firm is to increase the total revenue,
the firm shall:
svméjgééag Seéiros By P=1000Q4 svené)géé}ﬁ @’:uzf:gé &5 B, 300. éo@
oo dngo By Dot ©OoNd € D0
Options :
Increase the price
L H5n oTd

Reduce the price
5 % fnle] égoavﬁil



Not change the price
80 iy Db

Slightly decrease the price

L g0l $8 ShToh
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ITC understood that there is going to be secular decline in the demand for
cigarettes and has been shifting focus to manufacturing of food and several other
products. This decision of ITC 1s influenced by:

NTatelnl=y) égsvﬁoéﬁ &Sm0l éﬁgcﬁ@ &0E0ot0 @go ?:5‘51}&36& ITC, &5 cﬁaﬁ,ﬁ} €338,

C
238 ShHe Sairbsabiod. ITC &hh) S JZae) HerdEH8008.
Options :

Socio cultural environment

v ARy &oé&, e:,éiéé 290%5a8E80

Natural Environiment
ErE)BE HogEdso

2. %

Political Environment

3 % oeazdah éovpsa’itﬂaao

Economic Environment
@gé 5’:’@355 Bes0
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Simultaneous purchase and sale of government securities under Open Market

operations by the Central Bank of a country is popularly known as:
2.8 B4 Sols 2508 &0 dSro) setgierare (8ol 2 BarB aroid B0, Chvlafell

3 wd:



Options :

Operation reverse position
% eINBAS 85y k0

Operation control
) % 85035 Soli*S

Operation leverage
5000 D50E

Operation twist
95DAS tf‘;éé
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Assertion (A): Of late. in India bond prices are falling and bond vields are rising.
(28arSH(A): S Eﬁ)cﬁae}sv@oéﬁ ertSBdost erol Sen Srpehamon, aroth Brbathen

?ﬂiﬁ)f’i)é}ﬁv&o&;}.

Reason (R): There is an inverse relationship between bond prices and bond vields.
se6mo(R):  arotdh e, aroth Bibatheth i ég@éé Dozoto Sotnob.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A). (R) e» Bo&r 57550, (A)R (R) 585 955w
1LV

Both (A) and (R) are false

) % (A), (R)en Botir eardso

Both (A) and (R) are true but (R) 1s the incorrect explanation of (A)

- (A). (R) en Botr a7d50, (A)8 (R) £508 DB soth

(A) 1s true but (R) 1s false

(A) 7550 (R) eardsio
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Match the following:
esest ol

Description of the deficit
o DSBes

1. Total estimated expenditure as reduced by total
estimated receipts
®OoSTran® Tretheid é@oﬁjzé ®oSTe BDD alov)
Total expenditure as reduced by total receipts on
revenue account
O3y @8 0t) Trathed $H0DS @olar B 1y P
3. Total expenditure as reduced by total receipts
except borrowings
oD &) adt dndo iy SHODS swdo TrathHen
4. Fiscal deficit as reduced by interest payments
$8 BYohen SA0DS DES e

I

Options :
1-1v 2-111 3-11 4-1
1. ®
" 1-111 2-1 3-11 411
;  1-i 2-1v 3-11 4-1
4 @ - 2-1 3-1v 4-111

Tvpe of Deficit
&Pen 8%o
1) Revenue deficit

BTy So%n

i1) Budget deficit
gy &%ex

111) Primary deficit
a0 S%w

1v) Fiscal deficit
AR oA
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Under ---=-=m=nn--- the rupee exchange rate is left to market forces without any
regulatory intervention and without imposing any limit on inflow or outflow of

capital for various purposes:

% 808 ord (Hsedo Sraron SrEED Dendidh 2PN Dol éﬁ'égo Bhowe,
Soredd S, oo HDEIHE HBMS Bhore SO FHhodh SHTID.

Options :



Full Convertibility
| v B 5rEs

Partial Convertibility

_ argE Er0\8

Current Account convertibility
X E80ed grae Srd)

Capital Account convertibility
, et grar Hr0)h

Question Number : 66 Question Id : 51714410264 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Match the following:

esdsitsiot:
Description of the mode of entry Mode of entry
53E D55 DHBes B3 Do
1. permission to use legally protected technology 1) Franchising
TgahHBore BEodnds rosass lgrozmoh
2. right to use trademark 11) Joint Venture
BE £ $5@rhod Ky &858 argErso
3. sharing ownership and management with 111) Licensing
another company gadyoh
56 gondsd dressiriigo, Ares HoHESEo
4. hires a local manufacturer to produce the 1v) Contract
company’s product Manufacturing
gond $%% SairhicheN8 5;&)% && Brrdhid sPolEry) 688
CSlalsy &:08%5%0
Options :
1-1v 2-111 3-11 4-1
1. %
5w - 2-1 3-11 4-13



[ ]
1
o

1-11 3-1v 4-111
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Which of the following theories 1s based on relative productivity differences
between countries and incorporate the concept of opportunity cost:
& (Bob ?}C};O@nﬂ}eﬁﬁ DB Bare 05 GEntise Eﬁm@:&g er8H8 wdsed sahgrRdd

ERVARERNA
Options :

Absolute cost advantage
. Qo Sgodh (Hared wrpodo

Comparative cost advantage

o Bad (BHDred vrroso
2.¢ - =

Relative factor endowment
t%fﬁ:;gsnéé Do&Fots Lorodo
3. % =

Product Life Cycle

S seed¥ horodo
4. % - I
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Unicorns are public startups that are valued by private capital @ -----------------

US Dollars or more:
ShrdsHen b ——--—- 5% wostod Q¥ Hreoio DAL H85 eodiko

ok

Options :

10 million

10 Sodcoiy
1. % e

100 mallion
, % 100 O



1000 millon

1000 DA
3.9 =

10000 million.

4 ® 10000 andchHid
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Russia 1s fighting a war with Ukraine because the later wanted to join:
GhrES————- & [HBBowrensHio Hod By TR asngo SRR

Options :
| » NAFTA

NATO
2. ¢

EU

, » EFTA
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The main objective of which of the following organizations is to assist
developing countries to integrate beneficially into the global economy in support
of inclusive and sustainable growth and development:
DAY, S eRoSHOR Eﬁej%, &)&ég@ﬁ) arHoSErA8 1HHoS eagé éﬁégéﬁ K}éjgom
5553805608, E}éjéej% Botheay) Sed $55¥aho Jaheo @’vaﬁﬁéééonﬂ ge éog‘g:

Options :

WTO
| % WTO



WORLD BANK

5 % (0003 argoth

IMF

, « IMF

UNCTAD
UNCTAD
4.
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If we allow the facts to speak for themselves and not be influenced by the
personal values and biases of the researcher. it 1s known as:
VSTV ST BES 5685559 iETatd a8, Denderd [Herdédo seone éﬂv@é
©HseE ) @b

Options :

Data
HeErod0

Analysis
) % D@es

Interpretation
3 % DHOEBes

Objectivity
=P8OS
4. i
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The research completed in a controlled environment 1s known as:
QaHolB8 HomHBnos® TrEBhG DD

Options :



Quantitative

- B TerE)s B85S

Exploratory

@555105 588%5%

Experimental

-~ BarreesE 588558

Empirical
4w BE0d eprdd 88D
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The sampling technique i which each item in the population has an equal
probability of being chosen 1s known as:
23:°gPER (H8 ©oD8 LodE seHerds Hird edsedone [HaScHS 2B

Options :

Sampling

_ ©83aDS Hi8
1.

Simple Random Sampling

) e e B8 (@8Schido

Non-Random Sampling

- @cﬁ;md;@é [Badchido

Stratified Random Sampling
4% obes dﬁjﬂ@@ﬂé et Inferstatel
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Sample population that best represents the entire population being studied can be
obtained through:
3o ey (@80 80 (HBScHS earerh S5 (Bod HEB Teoe EPodsy:

Options :

Multistage sampling
| %  DI0ESE 5830HS0

Stratified random sampling

) DBSAIRE)BYE (DSBaHo

Cluster Sampling
o) E8Schdo

Judgment Sampling

e3Biabot) (HB8Swahido
4. % 8
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Expansion of the acronym SPSS is:
SPSS& d5BoSod.

Options :

Statistical Programme for the Social Sciences

v Statistical Package for the Social Sciences
2. ¢

Statistical Programme for Social Studies

4, » Statistical Package for Social Studies
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In a Scatter Diagram. if the plotted points lie on the straight line parallel to the *X’

axis. the relationship between the variables i1s:
gst08” 0D DothHed) X'egis Ssrodtorr eidar D588 SowdHe

)5 Soaogo.
Options :

Perfectly Positive

- r‘i’}o‘i’.gjvg émé&éo

Perfectly Negative

_— Qoary terdEo

High degree of positive
Ejvﬁﬂjdﬂgon Fred€o

Zero
-ﬁjﬂ?éac’o
4.
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Which of the following are properties of Regression Coefficients?
% [BobTOSE (HBSHS hessee fﬁoﬂéa‘)?

1. Both will have the same sign
Botsr a8 2I70 8OA Goéran
11. Both cannot be greater than one

Bodr .58 Kod )85 HBEre0 BOA S0

ii.  They are independent of the change of origin and scale
soreo, 'ﬁj‘;@; Bofi&8 edolSorr Gotron

iv.  Arithmetic Mean of two regression coefficients gives the correlation
00D 128NN ssce mosihiicaho Dirhnonotio

Options :
i, i1, 111, 1v

L« LLii



1, 11
3. ¢

1ii, 1V
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Assertion (A): The greater the standard error, the greater 1s the departure of actual
frequencies from the expected ones.
Reason (R): Standard error provides an idea about the reliability of a sample.
H8SH(A): (B &0 dod aé}&ﬂ_é, dﬁmﬁg P daegen, edodd TH:DPeH
©OoatirSorT Sotron.
s=8e30(R): [E5rdE &0 [H8ScHo dng) DEFHAHSH Honohods Hrss
BeniiEob.

Options :

Both (A) and (R) are true

(A), (R) en Botlr ahordo
1. % @

Both (A) and (R) are false
- (A). (R) en Botir dbwrlo s

(A) 1s false but (R) 1s true

_ (A) ®@ardso, (R) aed®do

(A) 1s true but (R) 1s false

, v @ago, R) oo
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Degree of inequality in incomes can be studied through:
sedirod® ebdrbs 5{;0}3& &3 TRoe SR LDy;

Options :



Philip Curve
1% DO 3&)

Ogive Curve
o2S By

Lorenz Curve
erB0E OF

Laffer Curve
) O
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When we accept a null hypothesis which 1s false. we are committing:
©PIND ey [DHAartS ©ohE8 3, Hivo Fas Ho:

Options :

Type I Error
85 1 &0

Type II Error
85 II&%0

Type III Error
85 I &850

10 error
&850 8o
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“What 1s to be achieved in a given time period by the business™ 1s stated by:
&Jé»-é 5&0cHho8d Do FhoSKesd 3DDE:

Options :
Vision
| TBRES

Mission
2. % S0AS

Objectives

éédijﬂtn
3.

Goals

4. ® DR
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Which of the following functions of management can be regarded as essence of

management?
% (Bol ABsTes Deheos® FOD Nses GBnE) JrBorre HOKEH0BHLD).

Options :
Organising
a’agéfﬁéém

@

Staffing
- F

Coordinating

v
Haodedho
3.¢ ‘h

Controlling
4 % WODo|SBes
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Organisation establishes relationship between
6653655} &J&é}é& Homoio wd)Bunod?

Options :

People. work and resources

v (Dezen, 3, Agoen

Customer, work and resources

- grETEt, Hd), Athen

People. work and management

3 % [Bhesen, R, NBETes

Customer, work and management

L% grerwrld, O, B
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Managers not having control over many activities is a drawback of......:
el wor seEorare i choldn S58Fsb0 HAS% S0

Options :
Matrix structure

| % 5788y doyeo

Vertical structure

- éﬂé& oREs0

Horizontal structure

s £ Aomeso



Network structure
4o 3&5&55& Roes0

Question Number : 85 Question Id : 51714410283 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The Fayol principle of management that states that there should be a proper
hierarchy of grades and responsibilities from the bottom to the top of the

organization, is known as the:
Botiihod D HBH é;gééfﬁﬁ 5{;0&3@, arggse ang) 985 PPardo somred Bﬁ}ﬂ 26HS

QBgEPes <oe|Eo:
Options :

Scalar chain

%133;15 APeniio
1.

Division of work

- H0 Defesid

Centralization
éo@%éo

3. %

Subordination of individual interests
35818 edhen &°oh Soto
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Which of the following are true with regard to Hygiene theory of motivation?
(@8 3748 burosel8 Kowofod & Bod a0E° 0 aHo?
1) This theory is closely related to Maslow's hierarchy of needs

& Drpodo e eSH8RERS drpoard8 B Somoiio EOA o

1) Only 1f higher-level needs (motivators) were met would individuals be
motivated.
698 Spon eddoen 8BIHE Bgen (w8 Brothe

i11)  Managers must focus on changing the intrinsic nature and content of jobs
éﬁf’érﬁv@é} Doaofodd F_‘)Déiéé grdo, dndire JoEriHen [_%tgﬂ}é%g@

1v)  Managers need not focus much on meeting lower level needs
QoegEEen éé}&aﬂ%{;om ®RITO P ([EPEFORD @ddBo B

Options :

| LALILIV

L Ll iv

1. 11, 1ii
3.¢

i, 111, IV
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Match the following
& (Boh @) eedBdob:

Name of the leadership theory The theory says

TabES QTrod 2% RTroS0 3058

1. Great Man Theory 1) emphasizes the significance of context
75 $oday ?{ngoéo ?305553‘}_ @D{;ﬁvﬁﬁsé '8y B0k

2. Theory of Situations 11) effective leaders inspire workers
5880 sy drroso SPEE TrabBen (FEhBei &a8esBtarth

3. Theory of Transformation  111) leaders are formed and trained. not born
Brarosd HBewesd RTPoso TeohHen Aoyeo Jotherd, 4w rothHeetD, DEB

4. Behaviorist Theory 1v) leaders are born. not created
[DGrard vrrodo eohBen e, Sosatts

Codes:

Options :



1-1v 2-1 3-1 4-111

1. ¢

) % 1 2-ii 3-iii 4-iv
2w 1 2-iv 3-i 4-iii
4w A 2-i 3-ii 4-iv
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Identify the correct process of communication:
HBHrr8 Dozohod) KB (3)8chH
Options :
1) idea formation 11) encoding 1i1) channel selection 1v) decoding v) feedback
v 1) 9658 rarotito 11) DS5E°&0R i) S8 JoE 1) &gfoR V) bHEarE

1) idea formation 11) encoding 111) decoding 1v) channel selection v) feedback
1) 935 egroBto 11) DS588oh  iil) &8fRoR iv) 578 Jodos V) 5 &erE

1) idea formation 11) channel selection 111) encoding 1v) decoding v) feedback
3 % 1) s&%58 Srarotito ii) &8 ono¥  1ii) A5eP8oR iv) &8%&oR V) H&erE

1) idea formation 11) encoding 111) decoding iv) feedback v) channel selection
1) @55 Srdrotto i) 58%&oR iil) &8%8oR iv) H&eeE V) &8 J020¥

4. ®
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Assertion (A): “Culture eats strategy for breakfast.”
E8FEH(A): Do) )8 gt wemBorr &%Hotnody
Reason (R): The culture of a company always determines success regardless of

how effective the strategy may be.
se8es0(R): syegsse ﬁvgéé OB GBI Zond $50:3) )8 Descird)) Vrdi0b.



Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

| v (A), (R)en Botir ardido, (A) & (R) 858 556w

Both (A) and (R) are false
s (A). (R)en Botsr eardso

Both (A) and (R) are true but (R) 1s the mcorrect explanation of (A)

_ (A). (R)en Botsr a=dido 508 (A) % (R) 485 Db 5ot

(A) 1s true but (R) 1s false
4 % (A)ad%o 52 (R) eardio

Question Number : 90 Question Id : 51714410288 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Expand the acronym ESG:
ESGR 2580od08:

Options :

Environment, Strategy. Governance

5 % Ethics. Social Responsibility, Governance

Environment. Social , Governance

L% Ethics, Societal orientation. Governance
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You own a business and you have accounts receivable pending with you which
will be due after three months. But in the meantime you need access to cash to
address immediate liquidity needs. Which of the following service you require?
Do srgarBo GoB. o Hirth Fee KthHike TrHODS ©8°0t) GIRon. S°R) EAES
é}:jéfﬁﬁf) D eadJgES E@éﬁé} pSiore B5% Gob. BIBES &% (Bod B6° HEs

[SEvrstele)

Options :
Factoring
L v o—jﬂgﬂoﬁ

Underwriting

Sowesrd
2. ®

Hire purchase

_ @@ £oofRben

Merchant Banking
4 % 00)0¢5 eroBoh
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When the financial entities — the commercial banks. Financial Institutions.
NBFCs—undertake multiple financial activities under one roof, thereby creating
a financial supermarket. it is termed as:
@-:;né éo“fgw—aﬂzﬁaﬁ aroen, @gé éc@@o, NBFCen - 2.8 3% (Bodd DD @gé
selgderaren ather, ejgé 2336 &0y f}é%‘é @b

Options :

Virtual Banking

HEHS ero8oh

Development Banking
@Qé&% arofoh

Universal Banking
SSRGS erofon
3.9



One-stop Banking

. N 5’;35 zero80oh
4.
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Which of the following pair differs in terms of organization. interest rates.
governance. scope of functioning. objectives and values?

% (Bob mded® D Eﬁéa’aﬂg SBore, ééﬁ@ 5@35, D srmHtone, 585 56668,
GFairen—-Dende &)aks P50 EOA Gob.

Options :

Commercial Banks and Cooperative Banks
| Eeesg erofen, Dsl wrothen

Private Sector Banks and Public Sector Banks
(2365 arothen, HEE Boi aroen

2. ®

Indian Banks and Foreign Banks

_ et eroen, DBE erodHen

Foreign Banks and Private Sector Banks

L% DB8 erofen, (2335 aroen
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Match the following with regard to performance of a Bank:
a0 HABHE Homobhod) & (Bod Y 2SHES0s:

Operational Parameter Relates to
seg8er) S B892 Homohodod
1. NIM 1) Adequacy of capital
NIM P08 sureddo
2. CAR 11) Cost of funds
CAR Dehe Hgadho
3. CASA i11) Quality of assets
CASA 9326[%@ e
4. NPA 1v) Spread
NPA A6
Codes:
Options :
1-1v 2-1 3-1 4-111
1. ¢
1-1 2-ii 3-1ii 4-1v
2. %
5 1 2-1v 3-1 4-111
1- 111 2-1 3-11 4-1v
4. ®
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An increase 1n reserve requirements result in:
Bastig evddore DoHte HdSo:

Options :

Increase in CD ratio
| & CD5pas® 261080

Decrease in CD ratio

CD 8:586° Srpe
2. ¢ - 4



Ideal CD ratio
c’jiﬁijg- CD 28

3. %

Decrease in lending rate
@E}Jﬂd Bénd Sihise
4. %
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--------- is the minimum lending rate below which a bank is not permitted to lend:
% [Bod 706° BIEoE SENS é%ﬂé:oéj erofen Heren ANEE ©ibih3ost?

Options :
Administered Interest Rate
DcSHolBe HEBen

Prime Lending Rate
5 % |EPeeRy Boe ééﬂé}}

Benchmark Lending Rate
Doty SETéw

3. %

Marginal Cost of Lending Rate

éarod H3oh HEBen
4.9
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Assertion (A): Repo rate 1s used to control inflation and reverse repo rate is used

to control the money supply.

(H8rSH(A): BB [@5555'&}3‘36@ QohHolFet &d@rAT), B8 B8F0END (155
D80 Aahol@nd DA,

Reason (R): A high repo rate helps drain excess liquidity from the market.
whereas a high reverse repo rate helps inject liquidity into the
gconomic system.

s28ea0(R): D850 BEPBED QEPSTT &) (BSagEeiy BH3HED8 SHDRNHAS, D&

BHEYBRRTen 8 KPS (SEgEsly VoBerds SSHBPKHEHEOB.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
v (A). (R)en Bor a=d0, (A) (R)SBH DHBes

Both (A) and (R) are false
(A), (R)en Bosr eaedso

Both (A) and (R) are true but (R) 1s the incorrect explanation of (A)
_ (A). (R) Bor a#d80, (A)H (R) G815 D8 =2t

(A) 1s true but (R) 1s false

L% (A) ardsho 520 (R) arddo soth
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Which of the following fund is a tax saving fund?
% (Bod Ho&ed® OB S sedn Ho&?

Options :

Hybrid Fund
DE Ho&

1. ®

Equity Linked Savings Scheme

£8B8° Do wond T St
2.9



Fixed Security Fund

R Er68 Hob

Debt Fund
Yo Dok
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Which of the following activities a NBFC can take up?
& ([Bod setsersrod® NBFCen d88roSHOnaa?

Options :

Agriculture activity

L aﬁ‘gaﬁﬁﬂdﬁa svﬁééevévw

Industrial activity

arB(@eihE seigEeraren
2. %

Construction of Immovable Property
28 eye Do
3 5 A Q@

Insurance Business

Disoe aﬁ‘s@véc}
4.
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Which of the following agencies entrusted with both regulatory and development
functions of the sector with which it is concerned?

£ (Bob 52)33:%@@5 28 Dadholghes, &v&@% Do 55 JoaohHodd Borrdd

ABReP 06 ?

o

Options :



TRAI

SEBI

CERC

IRDA
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----------------- 1s a product that 1s built around the core benefit and actual product
by offering additional consumer services and benefits.
DATPHKE @S5 Hden, 0TS RO Sy Swgy @%, cﬁjmgé@@ iﬁjé:%j ?CJE:@DSJ&]
SHH 250 Denart?

Options :

Generic Product
| % Erlm S0

Branded Product
erocs H0
2. %

Augmented Product
20HBe BDHB SEEY)

Delighted Product
e EE SN 55

4. %
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Consumer knowledge. attitude. use or response to a product etc. are taken into
consideration to segment a market, it 1s known as:
ST0S PorsE® DIGEHTD 55 HBepdo, S8, DAGrKO B8 (HS5)0B85LD HOKED

SO H:E08, wpoXdd & Do ByRHeTB
Options :

Benefit Segmentation
e_:@ O

Psychographic Segmentation

2088w 2E poidd
5 o DO EEVO

Lifestyle Segmentation

s % G0 3D PoS

Behavioral Segmentation
L BOES potsS
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CRM is an example of:
CRM 828 &medetes:

Options :

Marketing Information System
grtyfioh HErard B0
1.V ¢

Marketing Analytics

L é}ﬂﬁgﬁoﬁ o085,

Marketing Feedback
srt)fioh (BH8K5)0Hs

Marketing Intelligence

é}ﬂﬁ@ﬁeﬁ B08Dd)
4. %
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‘Toner cartridges for printers’ 1s an example of:
Broerth %56 =& B8 amrseSes:
Options :

Complementary Pricing
U8 &8 Qoo

1. %
Captive Product Pricing
2ob 55 AGaHo

2. =

Tie-up Pricing
3 % 2385 é@é &8 Do

By-product Pricing

SODND Y dgrdo
4. %
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| the retailers encourage customers to buy with shopping

coupons. discounts and huge events:
srhoh &ris, 370t, 2 SHB0us° rarrad Ju8 H8Hon eEnEEHET) wb:

Options :

Transactional Marketing

oA A Eﬁjﬂfﬁ‘:j_é?:oﬁ
l.v

Undercover Marketing

L Ba5edg Ef:u:ﬂ?:‘rgrﬁoﬁ

Diversity Marketing
e segyoh

3. %



Relationship Marketing

Homoyy rg)foh
4, %
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If the concept of social responsibility 1s integrated mto the commercial marketing
strategies. 1t 1s known as:
arde SrC)oh 5’@5355’33@(5‘5 PETRE ey 20&7) o

Options :

Social Marketing
SR alety

Societal Marketing
Ppes Sr8)doh

Responsibility Marketing
s sro)@oh

Integrated Marketing
SQDBoHEDD srgyoh
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Match the following:

edatdob:
Type of Marketing Example
sro)fioh B¥o St
1. Personalised Marketing 1) refer the product to a friend and get discount
@%ﬁ@é&oﬁ}é &rg)Boh f}&?}ﬂé&?ﬁ% Jrdod &Mots grotiéro
2. Word of mouth marketing 1) product placement in a movie
SP@re axoe SegBoh 2RSS 5% [BBSED:S
3. Stealth Marketing 111) coupons for items the customer regularly
&°olieed srg)foh purchses
DAGBrHehen [Esore 5% Shden Ersik
4. Affiliate Marketing 1v) conumnission to an external website for sales
wdhool Hrd@oh generated
oysren 20FP0BoNH0HDH irPE IHHH
EAS
Codes:
8%
Options :
1-1v 2-1 3-11 4-111
1. %
1-1 2-1i 3-i1 4-1v
2. %
; % 1 2-1v 3-1 4-111
. 1-m 2-1 3-1 4-1v
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Assertion (A): Starbucks cannot claim that it 1s practicing green marketing simply
because it designs and uses disposable coffee cups. recycles its waste.
supports farmers and also uses 1ts marketing to communicate these
practices to its customers.

EBFEH(A): réarta Shde E8S 58 ard¥o, 38 8p85ThKo0, Hardhuriio
#dSobodno. S Thg) S sdorared DAGrENThoH 3DahEHHo
weoe SrEah S5 08 Sr5BoR esbnTm Apbak) Sond BakB.

Reason (R): Green Marketing consists of several marketing activities. including
changes to products, processes. packaging, or even advertising, aimed at
ensuring that the product 1s perceived as safe for the environment.

s=8e0(R): 53 Dol Bk ol 55 aiE08 T 3 (HBD, axBdoh,

B8ete Srthen IwSBS Sro)Boh setBorarel)) 068 &ro)Bohd® KOk sotran.
Options :

Both (A) and (R) are true

| % (A), (R)en Botr ad550

Both (A) and (R) are false

. (A). (R)en Botr eardo
2.

(A) 1s false but (R) 1s true

- (A) ®ar=ddo, (R) ad50

(A) 1s true but (R) 1s false
4% (A) =830, (R) e@arddo
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---------------- is the flow of goods that includes the management of procured parts
and materials, distribution inside a factory. product management. packaging. and
shipping to warechouse.
= é) v i é é‘BJ oo ﬂ% v o é,ﬂ ﬁﬁ‘
2EB0DH :ﬂﬂd}mﬂ, DHEBcHE) DEssTes, 3 58 Howds, ST, argsRon, A e
B JBF0°0 SnBgtd) Son &) dde (@Harti) € diore HoNHR.

Options :

Production Logistics

&8 eraNE
L A Sl



Procurement Logistics

P (el ey
2. ® ™

Sales Logistics

a5t erfnt,
3 % é- [+ )

Recycling Logistics

82800oh erahE)
4. % 5"
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In service marketing mix, the aspects such as the ambience of a bookstore or
restaurant. the music, the friendly face of your travel host etc. are all come under
the element:
2.8 Hdsee o Boe 6&‘56065 PErHse0, 30 vohdo, & FHdires Ew% facfm
P8R8 (DB aa’afi‘& f}@ﬂ&é}ﬂﬁé@oﬁ Do|Fsnosd HBrBoDBH:

Options :

Product

$5:53%

Process

| o B80S

People
3% [P

Physical Evidence
F8E F¥s0

Question Number : 111 Question Id : 51714410309 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



A dress 1s displayed in the showroom with a price tag attached to the dress. It is:
BBerRD 2895805 a8 (KD o Qfdros? D580, Bb
Options :
An offer
% (80
An invitation to offer
(EH8TrEEE eifkdo

A conditional offer

_ 2BHo&® ErES (HATFED

An implied offer
BB HBD
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Assertion (A): Void agreements are always illegal.
(E8TES(A): 30 asdomren ol éotﬁo@aﬁ}a}éﬁ o505 a’aéaﬂéo.
Reason (R): Illegal agreements are always void.
seteso(R): Jﬁj(ﬁi}é@éﬁéé 2,:)0TPOR) ey 50(50‘2,@935 DeIE).

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A). (R)en Bo&r a@dio, (R), (A) @n¥) 585 DHdes

(A) 1s false but (R) 1s true

- (A) @arddo, (R)ardso

Both (A) and (R) are false
(A). (R)en Botir mardso



(A) 1s true but (R) 1s false
(A) 7350, (R) wardsio
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A does an act at the request of B. If B suffers some losses and A offers to
compensate him., it is a contract of:
B o8 A =850 350h. 283¢ B ofs S3jo =08 odd 565580 I,
B 398, essco|trt?
(5]
Options :

Guarantee
O 5P0lErE)

Indemnity
SD00FE solery
2.

Bailment
BondhotS seoltry

Agency
S)ﬁéﬁ} seo|tED
& £3
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A buyer cannot hold the seller responsible for inferior goods™ is known as:
“@é}&éomiﬁj@ TPBB) Dna)eRD et epvcijéag‘% JSHBS”. HAD HvotrEos:

Options :

Doctrine of Constructive Notice
Nogriga S5 Slayekls



Doctrine of Ultra Vires
oBsroedis ?ot:jgoéo

Doctrine of Caveat Emptor

E%oRtentrdh aeis Horodo
3.¢ =T

Doctrine of Absolute Liability
éef@vg i ?amgoéo
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The validity period of cheque from the date of 1ssue 1s:
B30 36 H0d 3K, ovens? sod seeo:

Options :

3 months

3 een
1.+

6 months

6 Jeen
2.

1 year

1 Sodeéndo
3, %

1 month

1 3
4. %
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Which of the following is an anti-competitive agreement under Competition Act.,
2022:
s20DBHS Séo 2022 (Heebo Lo BobarBE? DB srobBRSH égéﬁéé@é ashotio?



Options :
Resale price maintenance

a6/ e-_a?fné B8 ABFes
1.v

Imposing unfair conditions on price
58 ®agchadd J8@en &S0
2. %

Predatory pricing

&8 55

Denying market access
VLIS 1Y wotithertnstore IoHLo

4.%
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A Limited Liability Partnership combines the characteristics of:
0B arisd grriaRgEino 38 ofereo Soon¥?

1, a conventional partnership
SPo(TeaD rriaeEingo
11. a public limited company

%85 DBE o2d

1. a private limited company
(23365 DBE Eodd

1v.  a partnership

g0

Options :

Both 1 and 11
L% 1. il Bodr

Both 111 and 1v
5 % 111 1V Bo&w

Both 1 and 1
1. 111 Co&r



Both and 1 and 1v

L % 15068850 1v
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Match the following:
aaddnBdob:

Intellectual Property
e HoH8
1. Patent
2Bots
. Trade Mark
@5&”}3@5&

3. Copy Right
=556

4. Geographical indications
FRE Lrden

| )

Codes:
5°8
Options :
1-1% 2-1 3-11
1. ®
3 583
5 % 1-1 2-11 3-11
1-ii 2-1v 3-1
3.9
1-111 2-1 3-11

Validity

£930ENSPeI0

1) life time plus sixty years
2ddsro0 D0 @83 Hoddyoren

11) for 20 vears
20 Sonen

111) 10 years subject to renewal
$DEBe [BH&® 10%50m

1v) Perpetual subject to renewal
$DEBee HBHE® AH)B8

4111
4-1v
4-iii

4-1v
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Assertion (A): Right to Information Act intended to make our democracy work
for the people in real sense.

BBOD(A): SHrerdsety) B5o o [EararEingo dﬁ}m’ug @goéﬁ (eze BP0 52
Boher8etBodndsn.

Reason (R): The main provisions of the Act contain a section to ensure this.
seeso(R): ﬁ%oeﬁ{’c‘ﬂ Sogg Daogdos® B s ol ES sob.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

(A). (R)en Bokr 7550, (A)% (R) 588 D556
1. %

(A) 1s false but (R) 1s true
- (A). (R) e» Botsr eardsio

Both (A) and (R) are false
(A) @ardso 500 (R) aod50

(A) 1s true but (R) 1s false
L (A) b0 =00 (R) earddo
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For which of the following the IT Act. 2000 1s not applicable?
% Bob &S 308 IT o 2000 SBoSEH?

1. Negotiable mstrument
eTegEros airriEe Higo

i1. Power of Attorney
HH6 e @é:ﬂﬁ&

ii.  Contract for sale of immovable property
%}U"% ©iyseE 5PoltrL)

iv.  keeping books by banks in electronic form
S8 Hpeed arodhen el ErH06° Gokerda

Options :

| L1, 1011V



1, 11, 1i1

2.¥

yx LILD
1, 111, 1V

4,
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Correct Marks : 2 Wrong Marks : 0
In which of the following cases income of previous year is taxable in the previous
year itself?
& Bod 8BS 8Osk H&Sosd o sarddo, Héﬁﬁ}ﬁéé&tﬁo@f’ﬂ S DFeartn?

1. income of a person leaving India permanently
griSnE0 Hol THBorr Jpinih) H8 ewrdho
il. income of bodies formed for a short duration

ee) N8 B)BS ?60‘5@:.&} esteco
111, income of discontinued business

ST5EPORR)) DOHIH éo‘g esmPaD0
1v.  income of a newly set-up business

e 28Bdd auars eordho

Options :

1, 11, 111, 1V
1. ¢

) % 1. 11, 111

3 % 1. 11, 1V

L., 1Y
4.%
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Correct Marks : 2 Wrong Marks : 0



An employer has not deducted tax on salary at source and caused loss to Income

Tax Department. For this loss. the employer 1s called:
e chzdrd Sireod? S0 Dy éﬁoiﬁé&om eTPaDy Dy TPt E‘é@o EDRowetD.

= éaﬁﬂﬂé‘. ezl e Dfore HBHBTG:

Options :

Contingent Assessee

| % esfioes @?ofot\j

Deemed Assessee

- gm8)es @?ofb&

Assessee m Default
SPego BobD ©Y)
3.¢

Constructive Assessee

Hogmdes @?o:";:g
4. %

Question Number : 123 Question Id : 51714410321 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0

Which of the following are fully exempted from Income-tax if received at the

time of retirement by a Central Government employee?
Boles (234Desg fﬁﬁ%ﬂ &5 H5d DB Huohos® E:nHod % (B8od S DI Hrbre

écﬁa o8 SrdSFonodatiaron?

1. Gratuity
L_riﬂéxgé
11. Commuted Pension

éé}}ﬂééﬁ D55 _.‘:bzfavﬁ
111. Leave Encashment
o5 HKEE Svlev)

iv.  Statutory Provident Fund
FTHITHE (FDR0E Ho&

Options :

| v Ll il iv



1, 11, 111
2. %

1, 1, 1V

i, iil, iv
4. %
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Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assertion (A): A person incurred a loss from house property to the tune of
Rs.3.00.000. He has income from several other sources to set-off this loss. But
his auditor asked him to carry forward Rs.2.00.000 loss to the next year after

setting off one lakh during the year.

B8rES(A): a8 &8 ﬁe}ﬁﬁg‘;@ . 3,00,000 &0 Frometh. @88 & X}@éﬁ& t5esn
JOHER8 DG ass S'J:rﬂo;m €%)00. 0Nd eacHD ©=leb & 2633_065‘5 %.1,00,000 ==
SodHBo 25D T HADS &°.2,00,000 $3o SHaed Sonss s=Bar658
Sadhavamsh.

Reason (R): Yes. the auditor is right. Loss from house property can be set-off
against income under any other head only to the extent of Rs.1.00.000.
5860(R): @95 ©fd J0rrs Sam. PR 5o ass o 88¥ (BotS eraio
Hogar 8. 1,00,000 $58 é5ep Dahds),

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
(A). (R)en Botir amdi0, (R). (A) GwE) 585 Dt

1. %
(A) 1s false but (R) is true
- (A) ®ard%o, (R) a=bo

Both (A) and (R) are false
- (A). (R)en Botsr ezrdso

(A) 1s true but (R) 1s false

L% (A) 7530, (R) mardio
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Match the following:
& (Bob @) e:e858S508:

Section of Income-tax Act Purpose
eErdDs) DXy DES é.é%éo
1. 80 EE 1) NPS contribution
NPS svotﬁzmtga'}ﬁ
2. 80 CCC 11) Contribution to political parties
oresdah &Jﬂé@é seo|@aregio
3. 80 GGB 111) interest on loan for house
o B8 Heop B
4. 80 GG 1v) Rent paid for residential accommodation
prop 3o og
] [
Options :
% l-1v 2-1 3-1 4-111
5 % 1-1 2-1i 3-iii 4-1v
3 ® 1-11 2-1v 3-1 4-111
i -
L 1-111 2-1 3-1 4-1v
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Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
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Correct Marks : 2 Wrong Marks : 0

Assessment of escaping income is known as:
£2)0H5HF) swrch @S0 HBKBoD6:

Options :

Best Judgment Assessment
3 aGDot) oD

Seltf-Assessment

N —o wna0ts
2. ® ke



Re-assessment
;v B-oRRHos

Regular Assessment
Origeb eRDdotd
4. %
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Correct Marks : 2 Wrong Marks : 0

The price that would be paid if the transactions had taken place between two
comparable independent and unrelated parties is known as:
Claley éﬁﬁ@Jtﬁg Srols, Ho20otosd @Dé@ s0gs 28A &8 HHFoR8 2% &) §BE
DOTG:
Options :
Transfer Price
. 268 &8

Arm’s Length Price

) Doneedd ErsH &8

Fair Price

s> 55

3. %

Commercial Price
ardeyy 8

4. ®

Question Number : 128 Question Id : 51714410326 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0

Which of the following ITR Forms 1s applicable to an individual or HUF. who
has income from one or more house properties and other sources?
a8 8e HUF 248 8% eo$god E)SH ﬁ@é"ﬁ@?éao& eatedDo, BEsY E()FD{_‘;E) ook

eseoho 08 & (Bod ITR sroed® DB &5@rRomed?
Options :



ITR-2

ITR-2A

3 % ITR-3

4« ITR-4
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Correct Marks : 2 Wrong Marks : 0

Which of the following methods of depreciation 1s permitted under the Income-
Tax Act?
errah) Dy S&o (Heedo S (Bod @ HPE SHDBODH ©hHSTG?

Options :

Straight Line Method

| S8 558

Annuity Method
s H5S

Diminishing Balances Method

s é?@é};fg ?\Ja}é@ &z‘é@

Any method. provided it is uniformly adopted throughout
& HPBHT ©F HLBD dexth EEFRoD G0l
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Correct Marks : 2 Wrong Marks : 0

Understatement of Income can be termed as:
EENH DEB0DD esrrairdl D36

Options :



Tax Planning
o OV o
08 (deaedE

Tax Administration
35y HBared

Tax Avoidance
53;63& Eﬁg%j(}tﬁﬁgsﬁi‘iéo

Tax Evasion
L DI

Question Number : 131 Question Id : 51714410329 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0

Lease financing is profitable to the lessor in the case of:
0 pardjoh ©gdmed o ?&)Eéﬁ ergftrahso eod:

Options :

Inflation
@555-:%9&0

Recession
esD¥ ESJ“DC%D
[
2. %

Normal economic conditions
~egeties e_egé é’a&%}éam

3. %
Stagflation
PRHES
4.% =

Question Number : 132 Question Id : 51714410330 Question Type : MCQ Option Shuffling : No Is Question
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Which of the following industries will have low average cost of capital?
% [Bod HBIEHes® 308 Eﬁ}jﬂ@tﬁaﬂﬁ}écﬂ% e Sgoho SEHT Sonok?

Options :

Pharmaceutical Industry
| % BN HBIED

Steel Industry
) o S5 SOES

Petroleum Refinery

St H6 éU‘gﬂ"EﬁO
3 ® Q

Banking

4 % @oBOR HBHED

Question Number : 133 Question Id : 51714410331 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0

The time value of money does not take imto consideration:
SeD8 Ko srodend & (808 B8 HBKeSEs Hnsdn?

2 Capital loss
Somerss a’azgo
11. Negative mterest

S B Bém
111. Inflation
@555&%)530
1v.  Recession
ejgé Eﬁjﬂorﬁéo

Options :

1, 11, 111, 1V
, LIL1i

3. ¢



4w L1V

Question Number : 134 Question Id : 51714410332 Question Type : MCQ Option Shuffling : No Is Question
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Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
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Correct Marks : 2 Wrong Marks : 0

The minimum rate of return that the company must earn on its investments to
fulfill the expectations of the investors is known as:
2ePETPHO OoSTON 20HESE8 Kond epadHep SoakBoT))d E0% ool
Béw:

Options :

Cost of Capital

L éjﬁ@qianﬁjétipbé 5’351:1‘430

NPV

NPV
2. %

IRR
IRR

3. %

Benchmark rate
505353“5& Tén
4, ®
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Correct Marks : 2 Wrong Marks : 0
Systematic risk 1s a combination of:
BEatidd (Systematic)dsy & Bob 8 K’ﬁj@lﬁ’éﬁn:
1. Market Risk

Eg)ed B8y
il. Interest Risk
S8 B
&
ui.  Credit Risk
DBHA By
1v.  Purchasing Power Risk
Eofen 38 B85



Options :

1, 11, 111, 1V
1. ®

1. 1L, 111

i, 11, Iv
3.9

4% 1, 111, 1V
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Correct Marks : 2 Wrong Marks : 0
To form the curve of the Efficient Frontier, we need:
DEDBHoBIS DO Bay(curve of the Efficient Frontier) D8oHerI8 seBOHH:

i Expected return of portfolios
ﬁg@ﬁﬁi&iﬁ@ 380D Tab

11. Variance or standard deviation
OGS 8 |rSrBE Ddedbo

1i1. Covarilance
Dates

1v. Covariation
N SBe0

Options :

1. 11, 111
2.

i, 11, IV
1. 111, 1V

4. %

Question Number : 137 Question Id : 51714410335 Question Type : MCQ Option Shuffling : No Is Question
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Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Risk of a portfolio increases when:
a8 @ﬁgéﬁﬁ&ﬁ}ﬂ B, aatH 2505 08:
Options :
securities having perfect positive and negative correlation in their expected
returns are combined
#8530 e3dodD Dva}c%'é:ir:,; éof@vg qiaﬂé&’é, Ei}eavéé_é SiELonolone ?\Jgﬁﬂ‘éﬁ%ﬂﬁﬁ
W w
v 2:800D05H
securities having perfect negative correlation in their expected returns are
combined
&850 @dodd an}&éf;g 505 éo‘{g}ﬂg oeeesi® HENonotio Ko ?oérfg&é@%’m

2. % e8H008MS

securities having no correlation in their expected retums are combined

_ &30 980D Dﬂﬁ}&é@g é}cﬁé when HFEHonos08 ?oéjvéﬁé@?& 28080555

securities having negative correlation in their expected returns are combined
4% S50 esdodd mm&é@g GavInly iﬁjsa“é&é DEHomotio e ?Jé@gﬁée_}éa 238000055
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Correct Marks : 2 Wrong Marks : 0
Which of the following is the immediate reason for the present depreciation of

INR against US $?
INR Qenddés® US $% éé@ﬂéorw l_!.ﬁ::’;gé St b SEpe s°80?

Options :

Increase in interest rates by Federal Reserve

EBS Bestin $35 H& Bégd DoSKso
1LV - S

Increase in Repo and Reverse Repo rates by RBI
, % &5 B8¥, Bty BHFORH Doto

Russia-Ukraine War
6:%@5—65@5 csﬁmgo

3. %



Global Recession
(295305 e_?gé Evlelaile
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Correct Marks : 2 Wrong Marks : 0
Match the following:

exdaatdiob:

List A List B

D3 - o O - 8

O — o) Ba — 8)

1. Net Income Approach 1) Irrelevance of capital structure
EY esgerad® Hogre Soreextsd Qoes @ﬁoa}tgé

2. Profitability Index 11) Change in financial leverage changes
ergfmrahEs Hrd cost of capital

8% DIVES® 0850 BreSarlED
Sgaod® Hrdy 3:50d
3. Net Operating Income Approach 1i1) Ranking of Projects

DL e950Boh esmecH Hoge grae orodoh
4. Capital Rationing 1v) A variation of the NPV rule
Sorerss BHdoh NPV Qe0ti6b 9586
Codes:
8%
Options :
L% 1-1v 2-1 3-1 4-111
1-1 2-11 3-111 4-1v
2. %
g i r 5
3'\_ﬁ,lu 2-1v 3-1 4-11
4% 1-111 2-1 3-11 4-1v
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Correct Marks : 2 Wrong Marks : 0



Assertion (A): The biggest benefit of arbitrage is that the risk element 1s next to
nil or at least nearer to zero. especially when we take advantage in
price of a security in two different markets.

[B3BarSH(A): smgore oo Both gy Ef:ﬂﬂaggéﬁ E’Jé:g&é 586 B eddreone
BN @E’:ﬁ@é G 8 Y a}@ D0EI0E 8oy oayre, B
SORV Y Eﬂiéénv &otio.

Reason (R): Though currency risk persists in arbitrage operation. it can be

hedged for a smaller cost.

=8io(R): i) @&6° £37) 85) ¢))B8, b Hiso Jgey Hairds Bl Sle b

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)

v (A). (R) e Bote ad30, (A) B (R) 58 D58e

(A) 1s false but (R) 1s true

(A) @ardBo 520 (R) arddo
2. %

Both (A) and (R) are false
_- (A), (R) e Dotir eardiio

(A) 1s true but (R) 1s false
L% (A) =0 =0 (R) eardido
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Correct Marks : 2 Wrong Marks : 0

Assertion (A): Human Resource Accounting helps mn comparing the value of

human resource in two similar organizations.
HOTES(A): 28 B85S Botd Hoge 5rds Hthe Dendi HBE Srierds

588 Hdthe etofloh HHEcHHHH0H.

Reason (R): There are uniform standards for Humnan Resource Accounting.
se6Ea0(R): &6 Siithe e ofioh AEErS (Hdrearen Gomon.

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
= (A). (R) en Botsr addo, (A) % (R) 5858 ddtes



(A) 1s false but (R) 1s true
(A) ®ardsio (R) ardso

2. ®

Both (A) and (R) are false
3 (A). (R) ex Bodsr earddo

(A) 1s true but (R) 1s false
. (A) aeddo (R) mardso
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Correct Marks : 2 Wrong Marks : 0

As per Ind AS-1. a complete set of financial statements include:
506 AS-1 (b0 b8 A308e B 2e58° Sod soBlx

i A balance sheet and a profit and loss account
"’3%,3' e a’i%, awgﬁé?gm gyrage

i1. A statement of changes in equity
5&86° Srtne 56

1. A cash flow statement
S (Hertte IO

iv.  Notes and other explanatory information
55&33;] s08cin m88 DB Hararto

Options :

| 1,11, 11, 1V

1, 11, 111

3 % 1, 111V

L% LiLiV
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Match the following:

eSSt Nob:

List A

02 -

1. Accounting Concepts
==ofoh grdiden

12

Accounting Conventions
eS’ofoh aroldordimen

3. Accounting Principles
eosg’ofoh rl@ren

4. Accounting Standards
e8%ofoh Hreen

Codes:
Options :
K 3l )
L n L-1% 2-1 3-11
5 % 1-1 2-11 3-111
1-11 2-1v 3-1
3.9
4w 1- 2-1 3-11

Question Number : 144 Question Id : 51714410342 Question Type : MCQ Option Shuffling : No Is Question
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Correct Marks : 2 Wrong Marks : 0

List B
Oz - &
1) convert rough ideas in to practical forms
s esbSbedn 35 BEa B i
Sraredts SrEyyEeon

1) rough informal ideas
S8 ©Qchs addSiden

111) create more responsibilities
rer eriiden Hadeon

1v) high possibility of bias
PBESS ¥)D edsedo

4-1ii
4-iv
4-1ii

4-1v

When the shares are 1ssued to promoters for the services rendered. the company

debits this amount to:

% B2 Ddedred é&é%{;éé}@é aeéren eb DN Swaed)y GRS T grae

Options :

Capital Reserve A/c

% eSS Besty grer

Promoters A/'c

- cﬁag&.’jml‘;éém grae



Goodwill A/c

- HEDS grae

Share Capital A/c
4 % PEPEIPORS gree
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Correct Marks : 2 Wrong Marks : 0

Which of the following is true with regard to pre-acquisition profit in a subsidiary
company?

é@&dﬁ}é o2 ?}éﬂiﬁngﬁé S0oth ergiod Homohod) & [Bobards® Db arkso?

1. it 1s treated as goodwill
DEDST HBKBoTrer
1. it 1s treated as capital profit

Soretss erdfore H6KBoTD
1. it is treated as revenue profit
B3y ergfore HbNHowd

1v. 1t 18 available for distribution of dividend
BDB0E HoNB8 ub edhod
Options :
1 and 11

5 o onlyii

3 % 11andiv

4, » onlyi
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X.Y.Z are sharing profits in the ratio of 6:5:3. They admitted A into partnership
with 1/8® share. The sacrificing ratio of X.Y.Z is:

X.Y.7Zen ergreid E‘[‘J‘@@éﬁ Hodtotr A e 8580 1/850& eerSE’ mvﬁévéé}éoéﬁé
@"’mémgﬁﬂ}. X.Y.Zo sy Q58:
Options :

equal

5/14: 4/14: 5/14

4.%
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Match the following:

s8NV Bo:
List A List B
D8 - & oo - 9
D — o g — &
1. Realisation Account 1) reconstitution
$DBars gra ES T e) Qoo
2. Revaluation Account 11) allocation
9B durergods grae Beon0oD)
3. P&L Appropriation Account 1i1) ascertainment
ePnISeronos) grae QorBosén
4. P&L Adjustment Account 1v) closure
@uéuﬁtﬁgm&w grme HRahio
Codes:
Options :
1_4»*1“ 2-1 3-11 4-111
, % 1- 2-11 3-111 4-1v
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Correct Marks : 2 Wrong Marks : 0

The future uncertainties reduce the utility of----------- ;
FDHS @dB)Sen B (HEresed) Shakow:
Options :

Budgetary control
33%@5 flaholsies

1. ¢
Standard Costing
 |aedord8 seoh
2. % =

Ratio Analysis
NIRRT

3. %

Marginal Costing

- SeBkeo sehoh
4, % - 4

Question Number : 149 Question Id : 51714410347 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct pair(s) from the following:
& (Bob HS® 58D aden EFTHod:

1. Overhead Efficiency Variance: Automation makes it favorable
5,566 %0533% DSBeeo: eatihRS HD8 eddreo 3‘@05

i1. Overhead Volume Variance: Increase in petroleum prices makes it
favorable

556378 H85re DStmo: EPDho e HHEe HID edhdreo Thod

11.  Labour Efficiency Variance: It is also known as Labor usage variance
(a0 Ejﬂa’:o(éé DSBes0: B (EH DIBrr NS0 = Erme ®wotrh

iv.  Efficiency variance: Increase in input prices makes it unfavorable
%Déoigeg DS80: IO $Bed® DG HAD edHgroo Th0d

Options :

| Handiv

1 and 11
2. %

_ 111 and 1%

1 and 1v
4, %

Question Number : 150 Question Id : 51714410348 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assertion (A): JIT approach to inventory management is being replaced by JIC.
(BSBareSH(A): aﬁ&orbﬁ D&res Hoge JITd JICH {g}é;ﬁ{;ﬁ}éo (replace) S%086.

Reason (R): Supply Chain disruptions due to COVID 19, Russia-Ukraine war,
distrust between US and China etc. severely affected sourcing of raw
materials in time.

s*6e0(R):  COVID 19 sosordiren, Sars-eaBons dﬁ:ogo, US-3ere S0

eyt dwh Durgreih K590 55005008° HEErENE SR (HerdEo
D0,

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A)
L (A). (R) en Botr a=350, (A) % (R) 585 D58es



(A) 1s false but (R) is true
, % (A) @@, (R) &80

Both (A) and (R) are false

(A). (R) en Bodir eardso
3. %

(A) 1s true but (R) 1s false

(A) =530, (R) @ardso
4. %



